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Topic:- English
1)

Question Stimulus :-
DIRECTIONS: Find the Word which is most similar to the given word.
Summit
o Peak
o Base
e Bottom
e Shallow
Correct Answer :-Peak
2)
Question Stimulus :-
Fill in the blank with the correct conjunction.
I have the greatest respect for his ideas, I don't agree with them.
e because
e although
e hence
e since
Correct Answer :-although
3)
Question Stimulus :-
Fill in the blank with the correct option.
The air was clear and fresh, all the traffic.
e because of
e in spite of
e according to
e even though

Correct Answer :-in spite of



4)
Question Stimulus :-
DIRECTIONS: Find the word which is opposite to the given word.
Poverty
o Affection
e Adversity
e Wealth
e Misery
Correct Answer :-Wealth
S)
Question Stimulus :-
Fill in the blank with the correct conjunction.
the room is big, it won't hold all that furniture.
e But
e Hence
e Because
e Although
Correct Answer :-Although
6)
Question Stimulus :-
Fill in the blank with the correct article.
Slow and steady wins ___ race.
e a
e an
o the
e No article required
Correct Answer :-the
7)
Question Stimulus :-
DIRECTIONS: Find the word which is opposite to the given word.

Wisdom



Intelligence

Beauty

Folly
e Vigour
Correct Answer :-Folly
8)
Question Stimulus :-

DIRECTIONS: The first and the last parts of the sentence are marked 1 and 6. The rest of the
sentence is split into four parts and marked P, Q, R and S. These four parts are not given in their
proper order. Read the sentences and find out which of the four combinations is correct.

1. Photosynthesis is the process
P. from carbon dioxide and water
Q. by which green plants and some other organisms
R. use sunlight to synthesize nutrients
S. Photosynthesis in plants generally involves the green pigment chlorophyll
6. and generates oxygen as a by-product.
e QRPS
e PSRQ
e SRPQ
e RPSQ
Correct Answer :-QRPS
9)
Question Stimulus :-

DIRECTIONS: In the following question a parst of the sentence may have an error. Find out which
part of a sentence has an error and mark your answer accordingly. If there is no error, mark (d) ‘No
error’ as your answer.

Students are not allowed to (a)/ handle these chemicals (b)/ unless they are under the supervision of a
teacher. (c)/ No Error (d)

* (a)
* (b)
* (0
* (d



Correct Answer :-(d)
10)
Question Stimulus :-

DIRECTIONS: The first and the last parts of the sentence are marked 1 and 6. The rest of the
sentence is split into four parts and marked P, Q, R and S. These four parts are not given in their
proper order. Read the sentences and find out which of the four combinations is correct.

1. Malnutrition is the condition
P. of the vitamins, minerals
Q. that develops when the body
R. and other nutrients it needs
S. does not get the right amount
6. to maintain healthy tissues and organ function.
e PSQR
e SQRP
e RQPS
¢ QSPR
Correct Answer :-QSPR
11)
Question Stimulus :-
DIRECTIONS: In the following question a parst of the sentence may have an error. Find out which
part of a sentence has an error and mark your answer accordingly. If there is no error, mark (d) ‘No
error’ as your answer.
All of us have been (a)/ trying to convince her (b)/ since a week. (c)/ No Error (d)
* (a)
(b)
(©)
* (d

Correct Answer :-(¢)

12)
Question Stimulus :-
Fill in the blank with the correct option.

His marks in English below average this year.



e has been
e is being
e was being
e have been
Correct Answer :-have been
13)
Question Stimulus :-
Fill in the blank with the correct option.
The students stayed  days in London and visited all the museums.
o few
o afew
o the few
o alittle
Correct Answer :-a few
14)
Question Stimulus :-

DIRECTIONS: In the following question a parst of the sentence may have an error. Find out which
part of a sentence has an error and mark your answer accordingly. If there is no error, mark (d) ‘No
error’ as your answer.

We got caught (a)/ in pouring rain (b)/ without either raincoats nor umbrellas. (c)/ No Error (d)
* (a)
e (b)
* (0
* (d

Correct Answer :-(¢)

15)

Question Stimulus :-

Fill in the blank with the correct option.

We  allow the work to continue beyond the end of the year
e should not have
e cannot

e ought to



e should have
Correct Answer :-cannot
16)

Question Stimulus :-

DIRECTIONS: In the following question, there are four different words out of which one is wrongly
spelt. Find the wrongly spelt word.

o Eficient

e Horrible

e Insignificant

e Barren
Correct Answer :-Eficient
17)
Question Stimulus :-

DIRECTIONS: The first and the last parts of the sentence are marked 1 and 6. The rest of the
sentence is split into four parts and marked P, Q, R and S. These four parts are not given in their
proper order. Read the sentences and find out which of the four combinations is correct.

1. Anaemia refers

P. of circulating red blood cells

Q. to a decreased number

R. and is the most common blood disorder

S. Symptoms can include

6. headaches, chest pains, and a paleness of skin.

« PSQR

SPQR

QPRS
e RQSP
Correct Answer :-QPRS
18)
Question Stimulus :-

DIRECTIONS: The first and the last parts of the sentence are marked 1 and 6. The rest of the
sentence is split into four parts and marked P, Q, R and S. These four parts are not given in their
proper order. Read the sentences and find out which of the four combinations is correct.



1. Fossil fuels
P. Because fossil fuels - oil, natural gas, and coal - take so long to form
Q. over millions of years
R. are sources of energy
S. that have developed within the earth
6. they are considered non-renewable.
e PRQS
e RSQP
e QPSR
e SPQR
Correct Answer :-RSQP
19)
Question Stimulus :-
DIRECTIONS: In the following question a parst of the sentence may have an error. Find out which
part of a sentence has an error and mark your answer accordingly. If there is no error, mark (d) ‘No
error’ as your answer.
The cost should be (a)/ shared equally (b)/ between the three of you. (¢)/ No Error (d)
* (a)
. (b)
.« (©
. @)
Correct Answer :-(¢)
20)
Question Stimulus :-
DIRECTIONS: Find the Word which is most similar to the given word.
Brave
e Courageous
e Coward
e Miser
o Extravagant

Correct Answer :-Courageous

21)



Question Stimulus :-

DIRECTIONS: In the following question a parst of the sentence may have an error. Find out which
part of a sentence has an error and mark your answer accordingly. If there is no error, mark (d) ‘No
error’ as your answer.

Hardly had the teacher (a)/ left the room (b)/ than the pupils started enjoying. (¢)/ No Error (d)
.« @
. (b)
. (©
. @)
Correct Answer :-(¢)
22)
Question Stimulus :-
Fill in the blank with the correct option.
Our friend speaks _ Spanish, so we were able to find a nice room in Madrid.
e afew
o the little
o little
o alittle
Correct Answer :-a little
23)
Question Stimulus :-
Fill in the blank with the correct preposition.
I always like to leave my desk clear __ the end of the day.
o for
e from
e at
e into
Correct Answer :-at
24)
Question Stimulus :-

Fill in the blank with the correct prepositions.



The table has a plastic coating which prevents liquids  permeating _ the wood beneath.
e into, on
o for, off
e from, into
e for, by
Correct Answer :-from, into
25)
Question Stimulus :-

DIRECTIONS: The first and the last parts of the sentence are marked 1 and 6. The rest of the
sentence is split into four parts and marked P, Q, R and S. These four parts are not given in their
proper order. Read the sentences and find out which of the four combinations is correct.

1. The Quit India Movement or the India August Movement ,
P. on 8 August 1942, during World War 11
Q. was a civil disobedience movement
R. or more simply by Mohandas Karamchand Gandhi
S. launched at the Bombay session of the All-India Congress Committee
6. demanding an end to British Rule of India.
e PRSQ
e RSQP
e QSRP
e SRQP
Correct Answer :-QSRP

Topic:- RC_English
1)

Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the questions given below it.

Terrorism means the policy of striking terror in the minds of the people by violent methods to achieve
some ends. It is a law of the jungle to use muscle power and force to get things done. It is a barbarian
act. Of late, terrorism has become the order of the day. People who are disgruntled and who are
unable to get their desires fulfilled by normal and accepted methods in society are resorting to
terrorism. Some other causes for which terrorism is resorted to may be genuine like a protest from
people to come out of bondage or fight for freedom. Even such causes do not support terrorism, when
there are other channels and methods to solve the problem.

What is the meaning of the expression ‘striking terror in the minds of the people’ in the opening line of
the passage?



¢ Encouraging someone

Making someone extremely frightened

Making fun of someone

None of the above

Correct Answer :-Making someone extremely frightened

2)

Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions given below it.

Terrorism means the policy of striking terror in the minds of the people by violent methods to achieve
some ends. It is a law of the jungle to use muscle power and force to get things done. It is a barbarian
act. Of late, terrorism has become the order of the day. People who are disgruntled and who are
unable to get their desires fulfilled by normal and accepted methods in society are resorting to
terrorism. Some other causes for which terrorism is resorted to may be genuine like a protest from
people to come out of bondage or fight for freedom. Even such causes do not support terrorism, when
there are other channels and methods to solve the problem.

What does the author intend to say by the line, ‘Of late, terrorism has become the order of the day’?

e Terrorism is rarely seen in recent days

Terrorism or acts of terrorism have become very common or usual in recent times
e Terrorism is diminishing or disappearing

None of the above

Correct Answer :-Terrorism or acts of terrorism have become very common or usual in recent times
3)

Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions given below it.

Terrorism means the policy of striking terror in the minds of the people by violent methods to achieve
some ends. It is a law of the jungle to use muscle power and force to get things done. It is a barbarian
act. Of late, terrorism has become the order of the day. People who are disgruntled and who are
unable to get their desires fulfilled by normal and accepted methods in society are resorting to
terrorism. Some other causes for which terrorism is resorted to may be genuine like a protest from
people to come out of bondage or fight for freedom. Even such causes do not support terrorism, when
there are other channels and methods to solve the problem.

Who are turning to or adopting terrorism?
¢ People who want to gain name and fame
e People who want to become wealthy
o People who are angry or dissatisfied and their wishes are not fulfilled

e None of the above



Correct Answer :-People who are angry or dissatisfied and their wishes are not fulfilled

4)

Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions given below it.

Terrorism means the policy of striking terror in the minds of the people by violent methods to achieve
some ends. It is a law of the jungle to use muscle power and force to get things done. It is a barbarian
act. Of late, terrorism has become the order of the day. People who are disgruntled and who are
unable to get their desires fulfilled by normal and accepted methods in society are resorting to
terrorism. Some other causes for which terrorism is resorted to may be genuine like a protest from
people to come out of bondage or fight for freedom. Even such causes do not support terrorism, when
there are other channels and methods to solve the problem.

What is the meaning of the phrase ‘law of the jungle’?

That those who are strong will be most successful in getting their things done

That those who are illiterate are the worst

That those who are terrorists are most powerful and wealthy

None of the above

Correct Answer :-That those who are strong will be most successful in getting their things done
)

Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions given below it.

Terrorism means the policy of striking terror in the minds of the people by violent methods to achieve
some ends. It is a law of the jungle to use muscle power and force to get things done. It is a barbarian
act. Of late, terrorism has become the order of the day. People who are disgruntled and who are
unable to get their desires fulfilled by normal and accepted methods in society are resorting to
terrorism. Some other causes for which terrorism is resorted to may be genuine like a protest from
people to come out of bondage or fight for freedom. Even such causes do not support terrorism, when
there are other channels and methods to solve the problem.

What is the meaning of the word ‘barbarian’?
o Civilized
e Uncivilized
e Sophisticated
e Cultured

Correct Answer :-Uncivilized

Topic:- Hindi
1)

Question Stimulus :-



- Srgyf
» HTagfa
. BTH
Correct Answer :-pIq
2)
Question Stimulus :-
3fY-fayrr o1 aread §:
. fomT ar-wwgl fsdt ara & a= @
. foelt @1 Siy-auds B
o Tt W sraafires fayr s
o 3T I fayre
Correct Answer :-f9-IT TI-gHS fpd} a1d & A4 @1
3)
Question Stimulus :-
. feaTea &
. FeieT®
. Wui®h
. Saie &
Correct Answer :-¥a0f &
4)
Question Stimulus :-
ARRIE Weqi # e §U sl B gYF I B Uishar dgardl o:
. quE-fawde
. guE-faug
. TTHIRYS-Ted
. HTE &1 URHATSH



Correct Answer :-THT-faTg
S)
Question Stimulus :-
udf & & siafa ot 3:
. 3adt
. gEal
. DUE
o« IR qt
Correct Answer :-3ad It
6)
Question Stimulus :-
fg g SATaT at & Il SATar- I B
« HAbdaarad
. UegdP
. fayrara®
. Iudea A | IS A&l
Correct Answer :-Hbadrad
7)
Question Stimulus :-
fordt g3 & yra-fawar & ufssan 4
o U A SRR ATt §
o T et YRR Wit §
o YT & gaa 3-8 ® Hora far orar @
. IuYed d | B T8I
Correct Answer ;-G Sl ST STl §
8)
Question Stimulus :-
TR’ T TR B:
o Sl QT 9 o AP



. sf=ardia
. 3UDHC
o S 9T

Correct Answer :-
Iod |
9)
Question Stimulus :-
o At
o 33
o Id
e IR
Correct Answer :-dIRX
10)

Question Stimulus :-

S I ST 87- 3 HEd &

o IRH-F
Correct Answer :-'\‘Iﬂ?[
11)

Question Stimulus :-
«T FHHTR 1Y T 91, grefe SRIa U 7 Hg URP-H &
. TEHIHT AHAPR
. IR APR
. ARRD AAPR
o fauTaT e R



Correct Answer ;-GS I1ad AP
12)
Question Stimulus :-
HRA & Hfaur ¥ 5 o IerHer & Fu H wrgar fett:
« 26 SAI 1950
« 14 Tda 1949
o 14 Rydav 1949
« 14 fde¥ 1950
Correct Answer :-14 Rida¥ 1949
13)

Question Stimulus :-

WYRITAT &:

Correct Answer :-FIPHIH
14)
Question Stimulus :-
eI fFR PR asR FTAugars; a8 8:
. ATYEAED aTH
. TOEES IR
. fauTara® ars
o Agad I
Correct Answer :-[AUTara® arR
15)
Question Stimulus :-
“3rege Weg A Wl @:
. fatwfy



o TR G
. 35d H QI T8I

Correct Answer :-
fat wfdr
16)

Question Stimulus :-

PI-91 ¢ 31T 3R AT I¢ 4 A g74a1 82

. TTE
Correct Answer :-ﬁ’_&'ﬁ‘fﬂT

17)

Question Stimulus :-

Apifad Yol gidl g TP YaTaRT I gidl 3~ HY B

Correct Answer :-Hd
18)
Question Stimulus :-
gl el 910 B Ul T HeDHR AUTE ¥U A FHgd 5-9%1 a1dl &
. Sffa=rfa seerR
. IR EPR

o TTRITPTY DR



Correct Answer :-3=IoRT AP
19)
Question Stimulus :-
Qd IgIT geTax 1 Y §:
. Wq R v@=
. Wd ¥ A g
o GG BT
. Td P HHA TG T
Correct Answer :-RI81¢G 81T
20)
Question Stimulus :-
g P 3
. g, ueft
. 3oy, fegt
. TR, 4T @ STYSR ISTAT S aTe BRI HT AT
. Jad gt
Correct Answer :-3%d I
21)

Question Stimulus :-

o & o |yt St STt 8, 98 WY TS 9 Q39 &F Bl ...
« HFS HTYT HEI AT 8
« SUHTS YT ol ofTel §
o HIUTIT B3} St 3
o AR U1 FHE el B
Correct Answer :-HTqHTHT Hal STdl &
22)
Question Stimulus :-
Tifrfeae<or &1 faa 3:
. HTHISHROT



o Jovidd

. S

o UR™YUT
Correct Answer :-gceid-
23)
Question Stimulus :-

SUEY IY” §:

Correct Answer :-GS®HTH
24)
Question Stimulus :-
‘COMPUTER’ T fgdt urR 1Ty ® =g &:
o TUMF-bd
o TU[H
« 0TS
o TUMATPR
Correct Answer :-Si0Th
25)
Question Stimulus :-

TS\ diell BT YYH HETHTA &:

Correct Answer :-ﬁ‘quam

26)



Question Stimulus :-
T & STYR TR ITR & TR &
. d
. &=
. IR
. U
Correct Answer :-a1+1
27)
Question Stimulus :-
I YAP UE VT & 9190 P! Wdgaras ared | gea- UR gI:
o I TEIP T8I Ug W18
- T IS UG
. 3D W YHIP Ug 38T 2
. TG I GAP UG 38T 2
Correct Answer :-XITdG IV Y¥I® U I8T 3
28)
Question Stimulus :-
fifea o O a @
o 9% T U BT 8
. TSR
« BRF RS AHE
. Iugad A | 15 A&l
Correct Answer :-3U4ad # | HIS gl
29)
Question Stimulus :-
FET fFT T &1 IR YE 82
. YIS I

[ ] a'lgq'law



o AHE I
Correct Answer :-aQ1HeT T
30)
Question Stimulus :-
fRTReR & fig sl urivuiie e &:
» Specific Rights
¢ Important Rights
¢ Fundamental Rights
e Privilege
Correct Answer :-Privilege
31)
Question Stimulus :-
fifea o wb-a1 e wsg-ga 82
o ufaur-ufasn
o YI-diy
G IKIES I G|
o I g
Correct Answer -3 Tt
32)
Question Stimulus :-
< RT A1 G far; § &1 RR a1 far-feaet ugdt 32
. SIS
. oY e
. g fay
. STgt
Correct Answer :-3HI¥ @'\‘R)f
33)

Question Stimulus :-

gRRiE TR fyfyerey, IR @ yeifde e @:



Correct Answer :-ia'&
34)

Question Stimulus :-

ST f5T THIT BT IS8T B:

o HYIHTE
Correct Answer :-ag'sﬁ%

35)

Question Stimulus :-
aevey & vy srTeHt § gl ufiet 6:
o AT
. W
o AT HiTed!
o 79 HIigAPR
Correct Answer :-XdT

36)

Question Stimulus :-
fora TAT # yuw ug SEImaTa® R Sifaw ug A gar 27
. Graaa
- G5 AT H
. FHYRYT TN |

. ggeife GuE o



Correct Answer :-Tg3] T |
37)
Question Stimulus :-
fifra & s fawe auieia s T8 82
« STANT-SUURT
o SffaRT-SfiRT
Correct Answer :-
38)
Question Stimulus :-
SRR A USRI 9161 UFAP1 §:
. Ugd
. YT
. 3MERT
- A
Correct Answer :-Gaqa
39)
Question Stimulus :-
1 H WP TS e I 8:
. GUSTHART HIeH gRI
. AR @ gR
« Yfird grI
Correct Answer :-HUCHRIROT W §RT
40)

Question Stimulus :-

Frgifea & Odl areu 8:



o TNIG A BHIAY 9SG Y BT fator fasan

o TNIG A BTG A4S GY B TG B

o UHEIG A D™D ATHS Ty B Y B

o VNG A “BTHIAY AT GY B g41T
Correct Answer :-Y¥1G H “BTHRIAY ATHSG Y BT T B
41)

Question Stimulus :-
............. & TINT A HIT & IRAdT, YT, THPR 3R YdIg ST gidTl 2|
. ETaN 3R Apifad

Correct Answer :-W 3R Apifad
42)

Question Stimulus :-

3R TR e I ABIfT A MM 8:

o TEY # 3R EF W ISl-B1ol e B oIl @

« PURTHA 3R RS SI-Tdl

o ATREIT PT SHYBTR T-PTol TP B T @

o AR F A | IS TAUTT HaT 8
Correct Answer :-BURIEA 3R TRED ST
43)

Question Stimulus :-
fryifed § @ S19-91 GUTHS Ted-JH 87
. ¢d-a9
. A
o 3ff-3reft



Correct Answer :-3I-1-8IF
44)
Question Stimulus :-
fFifea o @ S9-ar fawen faarardf g 82
. g
o AF-SHHEE
. gg-faues
o TH-ATTHA
Correct Answer :-HTH-3{fUATT
45)

Question Stimulus :-

<t Prar a1 va &, ARy ©U & WA iR JaIY g U 0T g
. T
. JEIG
. 3w
o IR gt
Correct Answer :-UHTG
46)

Question Stimulus :-

Y& BT YHTUT D MTARIDT 61’ 8q SUYTd dldiiad ahil:
. T Y 37T TG
o 1Y B DI AR R
o T T A Ftd A T
o 3O GUA YT IAT
Correct Answer :-gTY B BT AR FIT
47)

Question Stimulus :-

ot femR-ga & uceras &1 34 ©:
. JPpRa faR-§ier & | yral & 99-1 T Fe



. foeft ug &1 yrard uwe wn
. Frufa 2reg-diar § yral &) uee AT
o faOR-IF &1 UREYU BT
Correct Answer :-3HTd foaR-die & & ymal & 79-7103 U=t FeAr
48)
Question Stimulus :-
e & i9-91 are Ted 872
o &) 4t @5 & TR v S fof & sua @
. Tyfa d paufa g
. FrEmdt & g o @i
Correct Answer :-fgat UTHT &3 & FHTER U= &4t fafu & oud §
49)
Question Stimulus :-
“fRUrarguTaaR RSt 97 @:
. HiUa g &1
. WRagA T
o USRS STy &1
o AT BT
Correct Answer :-H3d g &7
50)

Question Stimulus :-
fRr@Tae W= § Y &
Tl
. G
N 1o
e Wae’

Correct Answer :-‘3[[d¢’

51)



Question Stimulus :-
fwifea & ¥ -1 fdwe e 82
o YIB-PTHR
« qUI-AT00
o STRIT-SffHeTyT
. faft=ara
Correct Answer :-dI@-pedH
52)
Question Stimulus :-
HT & Hetd GaiuR & T S Yo 91 g
. TSHIH
. WY
° W{B‘I
Correct Answer :-JFRIDHTH
53)

Question Stimulus :-

fay & Tatfire Jich o= arelt yTueh § FdH &1 M= 2
o AU

Correct Answer :-GTRT
54)
Question Stimulus :-
v o et wITaT 3:
o SUHHT
o TRTAE wr
. ﬁﬁm HTST



o AFS HTHT
Correct Answer :-SUHTHT
55)

Question Stimulus :-

PETaRT 5T YT 3T g 82

Correct Answer :-3Idl

56)

Question Stimulus :-

e v 1 vufa 8:

o IYUTd
Correct Answer :-UUTd

57)

Question Stimulus :-
‘Iedd gAY axg’ P fore fve garav &1 vt ghme?
. 34 F ATt g
o §-UR P IS
o TER BT Ed BT
o STHH R T
Correct Answer :-T[@R &1 Hd gIHT

58)

Question Stimulus :-

WSUPHTT & el 3Md &



» HRTPIH-TSHIU-Jaad Uy
« HETHTH-GSPIA-TfadTa
Correct Answer :-TgTHTH -GS HTH-ATEISD d
59)
Question Stimulus :-
AT & & T SRV N A § - a1 &
o Agad I
. g ars
. fowTgara® arR

o ARAAIH

Correct Answer :-
I dIRI
60)

Question Stimulus :-

g TR e
. U+ Aoy A wafta fedt gifia aron ot orea w3 @
. I vy @ wafte ufvumoai & wfoare & weraar & €
. 3R A fEY srgaTe & TeTaw 1A §
- gg3rdi vd wgamarh g1d §
Correct Answer :-3(09 fawa & Taftra f<ht gffima emon &) soga v &
61)
Question Stimulus :-
e Weg F AU §:
o STl, BP0
o 3O}, WX

. 3T, TIRY

 Iude d § BIS TE



Correct Answer :-STgll, ST
62)
Question Stimulus :-
¥ & fPa TR 82
.8
.6
.4
. 2
Correct Answer :-2
63)
Question Stimulus :-
AU P UG SIS (A1) UTWTE &
Correct Answer :-§eal-geae-Aradl-fAaTS!
64)
Question Stimulus :-
P & 91 U F YR W Ug 7
. HETHTH 3R TSHTH
. Tifowrar iR yeusT
. UIHTH 3R TIHTH
. Y IR gHRIDHIA
Correct Answer :-US[®HT 3R TIHTH
65)

Question Stimulus :-

. 'FI'I?I‘I-ITQT



« HBT YT

o faymm

o HIAD HIHT
Correct Answer :-f[aHTHT

Topic:- RC_Hindi
1)

Question Stimulus :-

NYT YR’ JHTIR UF BT BT gidT 8:

Correct Answer :-s‘?ﬁ'\f
2)

Question Stimulus :-

ﬁiﬂ-mmﬁwﬁﬁﬁmﬁ%wzﬁm—

9 $S T BT WY a1 81 §9 U WY B THR U Y™ H3 & fag 34
arq=nsrrem & §T A B 1 30 U & SMYR R U+ Ufasg & -ia 11 3Ry o7 &
ma&uwﬂﬂa‘rm%lwm SR, YedT, SfHAT, IReR FHaR,

N 7 B AT TP ¥l T Ria &1 R W 98T P YR W gE AT B
ﬁrmméﬁﬁa&uwu@%mnﬁ%lﬁr&nﬁa&uwwwﬁw
aﬂ'cﬁ%m-s'na&r oitad ¥ 959w I & JUM g, St fhdl & gRT IR 9 fern 18 o 9o

g

I TR D UgPH? 9dT3¢ fF A BT TUR T T8I T il 82

o U HHMT R ABd §41

o WG & JUA B! GIHR HIAT

o TR UM MR Siia & gE-giaurai o1 WRr S0

o HETE! B3 U

Correct Answer ;-4 & U B ATHR HIAT

3)

Question Stimulus :-



fd=r: srufea meriwr & ved: e usl & IR difor-

wwﬁmﬁqwmﬁmmﬁm%lwmmﬁwwmmﬁ%m@
ST STYTR 3R AT T A 8 | 30 U & STYR R 37 Ufasy Y g T@=1 3Ry $d
TART d&d 2 Wt 81 Joar 81 g0 R, eifR, IoHar, sifiFdr, wRert siant,
TP o W T B T Thd 81 TART R4 o1 TR W 7&8 & MYR W §¢ 1T 2
Rrem ve U1 ATeny , S w8 9@ Ugd 1 9n g1 e g dey 9% ugare IuA &l IeR
%ﬂﬁ%l%ﬁﬂ%%ﬁﬁ@ﬁ%%%,ﬁﬁ%gmmamqﬁmm
|

TR TR BT Sugad M ¢
. e s HgE
. e ok At
. fRram ok |
- Rram ot ok
Correct Answer :-TRT&T &T Hga
4)

Question Stimulus :-

= srafea uerizr & vewx fFdiaa wai & SR -
T4 I g T Y T T die,

et Wt FT AT A FAT # |

SATH ST FHATHR TY T e,

3R fpx 924 &t orar, A | B |

w1 € 9 % & fpan e §2

# g1 § o9 U] B! FHA-ARA

3R arEl IR -2 unTal 3t ot

dig-1 # 96 Wl IR HEl B |

Ff & TR P AT ATT IATH UgT B BT 82
. 3@ Sfg
o 3TSH

« T BT i



- HY
Correct Answer :-Gﬂa'lﬁ
S)
Question Stimulus :-

A srafea uerizr oY vea fAdiaa wdl & SR difom-
T i HgA o G W $1 9la,

3reHt oft w1 SFRET S BT 7 |

AT ST FATHR 31T T e,

3R fiPx 924 g SivTar, A Wi © |

ST 8 4 6 & fpan RET§?

# g1 § <9 U B! S Hd-1Rd

3R arEl SR g-9 UnTal of oft

dig-1 # 96 WUl IR HEl B |

"3RET Sfta BT JaTd 8:
. To fORIY YR &1 SaR
o I 4T B el
. Tw fafkme iR o
o 3MgUd uToft

Correct Answer :-3GHd TOft

Topic:- General Science

1))

Question Stimulus :-

Which among the following causes Hydrophobia ultimately?/ Frafafaa # 9 S sida:
EGIGEIS ) I SX) BT PRUT d-dT 87

A virus/ T fauro]
A bacteria/ U TrﬂaTUj
A protozoa/ Udh mersia

A worm/ T& BIST



Correct Answer :-A virus/ T fauT]
2)
Question Stimulus :-

Which of the following microorganism cause hepatitis B?fﬁ'ﬁﬁ'\ﬁaﬁﬁ-w ﬁ&iﬁﬁa

FeTsied i &1 FRor 32
e Virus/ ﬁ'ﬂT‘{[
« Protozoal WiCIGilaiT
» Bacteria/ Gﬂil'l'Uj
« None of the above/ SIRIGd A A ﬁi T-Iﬂ
Correct Answer :-Virus/ ﬁ'qTUJ
3)
Question Stimulus :-

The weight of a person will be minimum at:/ TS fdd BT mﬁmﬁﬁﬁmmww
g2

« The North Pole/ 3T {a

e The magnetic north Pole/ ﬂﬁ'@fﬁ'qﬁ'\ﬁ Yyd

» The Equator/ ﬁga?ruv

* The center of the Earth/ q%ﬂ G -k
Correct Answer :-The center of the Earth/ q%ﬁ C gk
4)
Question Stimulus :-

Whic%among the following is different from other three?/ FafsfRad I P s d
ST 5?2

« Fish/ At

e Prawn/ Eﬂ'ﬂT

« Crab/ $HSI

« Snail/ gfgT
Correct Answer :-Fish/ A3d!
S)

Question Stimulus :-



Water at approx 4 degree centigrade has _____ ./ ¢ITTHIT 4 f&h AN e
e Minimum density/ <JddH Ydcd
¢ Maximum density/ 3fHad g9
« Maximum Volume/ f&da¥
« None of the above/ SURIGd A A ﬁﬁ T-Iﬁ
Correct Answer :-Maximum density/ 3fHad g9
6)

Question Stimulus :-

Identify chemical name of vitamin C?/ et o1 wwmafae 9 a?ng!?r?
e Ascorbic acid/ ﬁﬁ% 3T
« Retinol/ ¥fetd
« Thiamine/ 4TS
e Tochopherol/ CEAL RG]
Correct Answer :-Ascorbic acid/ Q’W’ﬁﬁa? AT
7)

Question Stimulus :-

1K

Which among the following principle is used by Bats?/ g A Q F1=-a1 Rigia JHIGS gRT

WA foaT e 37
« RADAR (Radio Detective & Ranging)/ TSR (33 SIREaft 3R &)
 SONAR (Sound Navigation & Ranging)/ TR (ﬁﬁﬁﬁ'ﬁ'ﬂq aﬁ?aa)-\r)
« Law of reflection/ URTad- T f=aH

« Doppler effect/ STER YHTT

Correct Answer :-SONAR (Sound Navigation & Ranging)/ |IFR (t&af~ Afa=H 3R @&v)

8)

Question Stimulus :-

Milk is basically a type of:/ QU UD UPR BT %I
e Emulsion/ Iqd
« Solvent/ fd@a=
« Suspension/ FdeT



. Gell 5@
Correct Answer :-Emulsion/ T3+
9)
Question Stimulus :-

1 gm of which of the following will produce maximum ATPs?/ g ¥ I frad 1 |
AfYHTH ATPS BT IS BT 872

« Protein/ WA
e Carbohydrate/ Wﬁﬁ'ﬁ%‘c’

o Fat/ddT
« Cellulose/ JES
Correct Answer :-Fat /[dHT

10)

Question Stimulus :-

Skin works as a respiratory organ in which of the following Animals? / a3 s=a \_rlﬂ
P T TP YT 3 P Y A BTH HIdl 872

e Cockroach/ ﬁl?ﬁlET

e Frog | He®

. Whale/ @9

« Dog Fish/ $<IT A&l
Correct Answer :-Frog / Aedh
11)
Question Stimulus :-

When 1 litre of water freezes, the volume of ice formed will be:/ 1 forey 9 &1 A W IF
P faqT maa ure g2

« 0.9 litre/ 0.9 fereR
« 1.0 litre/ 1.0 forex
e 1.11 litre/ 1.11 forex
. 2.0 litre/ 2.0 fereR
Correct Answer :-1.11 litre/ 1.11 ferex

12)



Question Stimulus :-

The "Asteroids belt" are located between which among the following planets?/ fads
DIF-3 gl & 4 “&sE ufe” Sufeud g2

« Mars and Jupiter/ H7Td 3R gg&ufd
« Saturn & Jupiter/ 9 Td ggufd
e Mercury and Venus/ §Y 3R T[sh
« Earth & Mars/ 2t Td i@
Correct Answer :-Mars and Jupiter/ HTe iR gﬂ'@lﬁ'

13)
Question Stimulus :-
Bleaching Powder is a compound of .IWW_WWW%I
« Sodium/ Fif&aH
« Calcium/ HfeRmaw
 Magnesium/ AR
« Potassium/ TtefRrad
Correct Answer :-Calcium/ SBfeRTaH
14)
Question Stimulus :-

Which disease is caused by the deficiency of protein. Identify it from the given options?/

N St S A HI9-91 I 811 3, e Revey d@a wganfe?
« Goitre/ T@Tgex (Y€
« Kwashiorkar/ ®TRISR®H
* Hypokalemia/ HULIEISIE D]
« Dermatosis/ SHeIR
Correct Answer :-Kwashiorkar/ STRISR®
15)
Question Stimulus :-

Deficiency of Tocopherol leads to sterility in males and females. The chemical term for
Tocopherol is ___?/ SPIhHAd 1 HH F 7ol 3R ufgarsit # Tqgwdr gl Ioai @ |
APIBRId BT IS ATH 82

« Vitamin B3/ faerfi= |3



« Vitamin K/ faeifR_ &

« Vitamin E/ fdeiff= g

« Vitamin ¢/ faerfi= 3t
Correct Answer :-Vitamin E/ faerfé= 's‘g:
16)

Question Stimulus :-

Which among the following two gases contribute to begin the formation of stars?/

frafafea 7 @ o190 31 741 & aireE & arf & fHafor o1 yRe grar g2
« Hydrogen & Nitrogen/ BTSSIoi{ T4 ATgeIo
« Nitrogen and Helium/ FTggIe 3R giferaw
« Helium & Hydrogen/ giferad Tq grssio
e Hydrogen and Oxygen/ EE@FF-[ 3R STRfeH
Correct Answer :-Helium & Hydrogen/ §ifera T4 gIgsier
17)
Question Stimulus :-
Who discovered Ultrasound?/ WRTtafA @1 @il o #5172
e lan Donald/ E'CIﬂ?ﬁTﬂF\;
* Roger Bacon/ JAoR aH
e JP Merri/ STqt A%
e Joseph Lister/ STIW forRex
Correct Answer :-lan Donald/ 4T SIS
18)
Question Stimulus :-

Which of the following elements is used for the bleaching process?/ fadd s aa
st ot fAmfor & IuaiT grar 82

Fluorine/ WA
Bromine/ STHIA
Chlorine/ TR
Xenon/ ST



Correct Answer :-Chlorine/ El?ﬁﬂ:[
19)

Question Stimulus :-

gigestion is not a function of which of the following?/ U+ 31 fopan fog & | forge i G
?

« Biotin/ ¥TaIfe

e Pepsin/ ufer=

« Rennin/ A4

« None of the above/ URIGd H & ﬁi T-Iﬂ
Correct Answer :-Biotin/ ITife
20)

Question Stimulus :-

Plants get their nitrogen from:/ e &t T-I'IE@\_FI YT @'cﬁ %?
« Rain/ quf &
« The soil/ g&1 9
« The air/ ARG J
» Ground water/ H&I‘ﬁ ERE
Correct Answer :-The soil/ HaI |

Topic:- General Knowledge

1)
Question Stimulus :-

Which of the following films won the first prize at the Swachh Bharat Short Film Festival
(SBSFF) recently?/ 50 # & f5d fthe o1 1a1 81 A W= HWIRd fhed I9a # 99y fhew &1

RSB e 82
Sarkarmi Rati Wadho!/ GR&<H! ¥fd asit
Chembuku Moodindi/Ag® gfdst

Nahna Doot/ el gd

Murga/ 'E['Tf

Correct Answer :-Murga/ 'ﬂTI'f

2)

Question Stimulus :-



Japan’s Yoshinori Ohsumi has won 2016 Noble Prize in:/ SITUTH & JIRMRT SRR A fow &=
T 2016 BT 1T REPR Sl 872

Medicine/ faferear
Chemistry/ A4
Physics/ Wifas)

Literature/ ATfg

Correct Answer :-Medicine/ fifeocar

3)
Question Stimulus :-

The 2016 BRICS Labour and Employment Ministerial Meet was held recently in:/ HoigT d
NONTR WAt I TR 2016' 8T 81 § Pl G gai?

New Delhi / T8 faeeft
Mumbai/ §5

Jaipur/ SIYR
Kochi/ ®Ifa

Correct Answer :-New Delhi /=I§ ﬁﬁ

4)
Question Stimulus :-
Which of the following soil is most fertile?/ f7 T & ®1-{ g1 Iaw 31fe Iuwis; gl 82
« Red Yellow soil/ @1 q Yl gaT
« Alluvial soil/ STdlg JaT
o Laterite soil/ aETIB'c’ Hal
« Mixed soil/ ff3ra gar
Correct Answer :-Alluvial soil/ ﬁ?ﬁ%’ Hal
S)
Question Stimulus :-

Which district of Madhya Pradesh has maximum net agriculture land?/ AU & HIH-9

forat # waifte oY o yfr g2
« Ujjain/ I
. Hoshangabadl@"\’i‘TWIE



« Neemuch/ <iHg

e Morenal/ 'ﬂ%ﬂ
Correct Answer :-Ujjain/ I=H
6)
Question Stimulus :-

The Lodha Committee’s recommendations on reforms are associated with:/ FﬁET gfafa

@1 R frg & 3 fa 99 & qUR | Hefia 82
Hockey India / 1@ sf&ar
All India Football Federation/ 3iTd &f&dT Geaid e

Board of Control for Cricket in India/ 9IS 3iT® EIE-']?[ R fepdbe < 3‘%1”
Sports Authority of India/ YR W UTfUHI0T
Correct Answer :-Board of Control for Cricket in India/ 9IS 3Tt HE)I?[ R fepdbe ER) Eﬁ'ﬂﬂ

7)
Question Stimulus :-

The name of Harika Dronavalli is associated with which of the following games?/ HEGa

SIomae fFa Sa d Wil 32
e Squash/ IR
« Table tennis/ ¢qd ¢
e Snooker/ YPh
« Chess/ RTa¥ol
Correct Answer :-Chess/ qTdR6l
8)
Question Stimulus :-

Which project is a joint effort of the MP & UP Governments and is built on the Betwa river? /ﬁ?ﬁﬁﬁ?ﬁ

TREIST dear 8 UR T SR 3HIY IR U ARBR B Tgad TRAIST 82
Betwa Valley project/ Sdar °rét ufaiern

e Ban Sagar project /dT0T R LITS I
Rajghat project/ ITeTgTE URTATST
Halali project/ g@Tell LIRS I

Correct Answer :-Rajghat project/ ITSTaTE TIRAISTAT



9)
Question Stimulus :-

Who among the following is the author of book “1991: How PV Narasimha Rao Made
History”?/ 79 # | ®19 “1991: g1% Wt &t TRRyver1 W9 As fewl” & as 87

« Sanjaya Baru/ IS0 IR=

« Ajit Doval/ 3iford Sia@

e G Parthasarathy/ it grdaRadt

e Shyam Saran/ TUTH A4
Correct Answer :-Sanjaya Baru/ 999 9R=
10)
Question Stimulus :-

Arundhati Bhattacharya has been given an extension of one year as the chairperson of:/

Srsyfa yerard &Y g1a 8t 7 fva 1 # Sreged a1 g1 & fore ver af &1 fawar fear man 82
« State Bank of India/ HIR<I1q &< d&
e LIC of India/ R Sfta= oftar fm
« Punjab National Bank/ USTT§ A%d S
« Bank of Baroda/ 8% 3iT% Hﬁﬂ
Correct Answer :-State Bank of India/ HRdd &< 9%
11)

Question Stimulus :-

Anupriya Patel is currently the Minister of State in the Ministry of:/ GFjﬁITIT qed aoaH A
o warer ® vy WAt & ug R g

« HRD/ HFq SATY WAt

» Foreign Affairs/ fae=ht amra

 Home Affairs/ 7§ HATOH

« Health and Family Welfare/ T4  URAR HedT0]
Correct Answer :-Health and Family Welfare/ T4 § URAR HedT0l
12)
Question Stimulus :-

Which of the following rivers of Madhya Pradesh has the largest number of projects?/

AU $ fHa T8 W I 3ifirer T & ufgisEme s+ 82



Son/ I

Pench/ U9

Narmada/ :I'FfE'J

Chambal/ 9@

Correct Answer :-Narmada/ T'I'l:hT

13)

Question Stimulus :-

The first Chief Secretaries of Madhya Pradesh was:[AEUe & TYH e GIECEIE RN
Shri HS Kashath/ # Ta0d &9y

Shri RP Naronha/ Y 3R} R8T

Shri RP Naik/ 4t 3Rt A1a%

Shri SC Verma/ Y va=ft gt

Correct Answer :-Shri HS Kashath/ &t TIUH Y

14)
Question Stimulus :-

Annu Rani who has recently broken her own record is associated with which of the

f%ollowing sports? /ﬂﬁm@aﬁwﬁa%ﬁﬁﬁmﬁﬁmmw@uaﬂﬁqﬁ?ﬁm
?

« Javelin Throw/ YT B
e Archery/ dRere
e Shooting/ IERUECIEI]
» Boxing/ 'ﬂﬂaﬁ'ﬁﬁ
Correct Answer :-Javelin Throw/ YT &

15)

Question Stimulus :-

Which of the following central forces celebrated its 55th raising day on 24 Oct 20167 AECE:|
¥ 5T kg 90 A 24 3agaR 2016 P UAT 5591 RITIAT g T=AT 32

« ITBP/ ML
« BSF/ iTqU®
« CISF/ Hismsuauw



. SSB/ THUHd!
Correct Answer :-ITBP/ G@W

16)

Question Stimulus :-

Pench Hydroelectric Project is a joint project of which two states?/ g od ﬁ'g’,’qﬁ
RaeAT fr-g) Iul B Ty uiaie T 82

 Madhya Pradesh and Maharashtra/ mzm%m'q'n'smg

e Madhya Pradesh and Bihar/ H?ﬂmﬁﬁgﬂ

« Madhya Pradesh and Rajasthan/ HSAUGRT T ITSTRIT

 Madhya Pradesh/ and Uttar Pradesh/ AU G SR WSS
Correct Answer :-Madhya Pradesh and Maharashtra/ Hm d HERTY

17)

Question Stimulus :-

Who among the following won the women'’s singles title of the 2016 US Open?/ fada
fFam 2016 g T 3uT &1 UHa Afean fyar shiar 82

« Venus Williams/ 91937 fafera=y

« Serena Williams/ 91 faferawg

« Karolina Pliskova/ ST feraeiar

e Angelique Kerber/ Qﬁﬁﬁﬁﬁ'\'
Correct Answer :-Angelique Kerber/ Eﬁﬁﬁ? FAR
18)

Question Stimulus :-

Which of the following country is not a member of SAARC?/ A9 § ¥ HF-JT HT S TP BT

A el 82
« Sri Lanka/ &t @1
e Bhutan/ YcI1q
» Afghanistan/ MBI
« Myanmar/ ®HR
Correct Answer :-Myanmar/ ®ITHR

19)



Question Stimulus :-
“Mandla Plant Fossils park” is a:/ “ﬁmmvﬂmm” b ......... %I
» Biological Park/ Sifd® 3T
e Sanctuary/IRWY
» National Parkl?Tgl'qTﬁIﬁ
» Tiger reproduction centre/ dTY Ui G
Correct Answer :-National Park/ ?Tg}q 3ell+d
20)

Question Stimulus :-

Which is the state game of Madhya Pradesh?/ 59 forfaa & & P AT 7 USRI BT U @A 8 ?
o Kabaddi/®aS!
e Malkhamb/Ae@d
e Kho Kho/&t @l
e Cricket/fhthe
Correct Answer :-Malkhamb/Aer@d
21)

Question Stimulus :-

Match the following:/ {7 Cg| ﬁ'ﬁﬁlﬁ Do

- List 1

Balaghat/ dlcfTdlc
Orcha/ 3RST

Shivpuri/ fRITERT
[Pachmarhi/ Tt

List 11
\Wainganga/ CRARI
Betwa/ SddT
Sindh/ Ry

Tawa/ ddl

SIRIEIG
BRI =

A B |[C D
4 3 R |

>
STy
a
=[O




Correct Answer :-

A B |[C D
1 2 B W4
22)

Question Stimulus :-

‘Which one of the national park is not located in Madhya Pradesh?/ ﬁ?ﬁﬁﬁ?-ﬁﬂ@'ﬂ

ST AV | 751 872
« Bandhavgarh/ 914
e Kanha/ dT-gl
« Van Vihar National Park/ 9 fagRR QT@'QT 3el
« Sinha National Park/ f=g1 I1§1a I
Correct Answer :-Sinha National Park/ ﬁl%T ?TgTq RG]
23)
Question Stimulus :-

Which division of Madhya Pradesh has the maximum number of districts?/ AR & PiH-
q |HRT # Haifae fore g2

e Indore/ Eﬁ?

« Jabalpur/ SId¢iqR
« Bhopal/ HUTa

« Ujjain/ IS
Correct Answer :-Indore/ E'Ea?
24)
Question Stimulus :-

The World Teacher’s Day is observed every year on:/ fay e fRaw TP 9y fbd feq
AT ST 872

o 5 September/ 5 fRIdaR
e 2 October/ 2 3[dgdR
e 3 October/ 3 3fagdr

» 5 October/ 5 3dgaR
Correct Answer :-5 October/ 5 3dgdx



25)
Question Stimulus :-

The International Translation Day is observed every year on:/ GI?R'T@TI Sidlq feay ufoad
9 AT STl 372

« 16 September/ 16 fdaR

e 21 September/ 21 Rdsx

« 29 September/ 29 RIda¥

« 30 September/ 30 fidaR
Correct Answer :-30 September/ 30 Rdex
26)
Question Stimulus :-

What is the duration of term of a Panchayat according to Indian constitution?/ YR

IFIU™ & AR TAd BT TABTA fhd- U BT g 82

5 years/ 5 CL]

6 years/ 6 CL]

4 years/ 4 CL]

1 year/ 1 CL]
Correct Answer :-5 years/ 5 CL

27)
Question Stimulus :-

The powerful typhoon Chaba hit which of the following countries recently?/ gTcl ?f A P9
o ¥ I19T ATHS G 37T UT?

« Mexico/ RfRI®!

« Chile/ fareit

e Japan/ SITUTH

. Indonesial%ﬁﬁﬁm
Correct Answer :-Japan/ SITUTH
28)
Question Stimulus :-

Literacy rate of Madhya Pradesh is (according to census 2011):/ W U P JT&RAT & (STITUTAT 2011 F SJUR)

&



69.3%

74.7%

59.2%

91%

Correct Answer :-69.3%
29)

Question Stimulus :-

PM Narendra Modi inaugurated the first National Tribal Carnival recently in:/ YYTHHAT g
HIY A 8TT 81 H 4% & Ugd AP T STHGIHT PT YURY Fgl fba1?

e Raipur /IM[AYR

« Ranchi/ Iidt

« New Delhi/ 75 feeeit

e Hyderabad/ %W
Correct Answer :-New Delhi/ =I§ ﬁﬁ
30)
Question Stimulus :-

Who among the following won the 2016 Malaysian Grand Prix F1 championship?/ iEekikar
2016 &1 HARMA Uis e Tw1 &1 fasar g2

« Daniel Ricciardo/ SfAaa f¥®rst
e Nico Rosberg/ e Jaet
e Max Verstappen/ Ay A fa—
« Sebastian Vettel/ 9aftea= aE?[
Correct Answer :-Daniel Ricciardo/ Sf- e fX@rst

Topic:- Quantitative Aptitude
1)

Question Stimulus :-

Divide 935 into three parts in such a way that half of the first part, 1/3 of the second part and
1/6 of the third part are equal. Then the third part is: / 935 @1 I YN § 59 UHR difeu f&
g HRT BT SATUT gAY U BT 1/3 3R THR YT BT 1/6 TRTER 3 | WRRT YT §-

e« 170
e 255
510



« 1510
Correct Answer :-510
2)
Question Stimulus :-

The product of two numbers is 192 and the difference is 4. These two numbers are:/ EZT

@A} BT UG 192 3R <R 4 § | A gl T=T Bifi-
e 16,12
« 18,14
e 17,13
e 15,11
Correct Answer :-16, 12
3)
Question Stimulus :-

A is twice as good workman as B. Together, they finish the work in 14 days. In how many
days can it be finish by B separately?/ A, B & &) T{T 33T 4T 31 3 UH 1Y TP &1 &1 14
T A AT FY A € | B B el 59 BT B YATE B H fhaq e &1 a9y e

o 21

o 28

e 42

e 35
Correct Answer :-42
4)
Question Stimulus :-

Two pipes A and B can fill a cistern in 6 and 8 minutes respectively. If both the pipes kept
turned on alternatively for one minute each starting from A, how long will it take to fill the

cistern?/ g T8 A 3R B U UTH &1 HHRT: 6 3fi¥ 8 fie § W IFd 81 afe A F URT™ Fd §¢
I Al B UH-UP fU-e & o TRI-aR) 9§ Widr 9e, 91 Ui & 4R # fhaqr I9g @anm?

3 3

3; minutes/ 3; fire

6 minutes/ 6 e

3 3
6* minutes/ 6* f¥-IC
& &

6; minutes/ 6; fire



3 3
Correct Answer :-6* minutes/ 6¢ f¥9C

S)
Question Stimulus :-

There are two types of mixture of milk and water. In the first mixture, out of 27 Itr, 24 Itr is
milk only and in the second mixture, 40 Itr is milk and 5 Itr is water. Which one mixture is

better in terms of milk’s strength?/ g¥ amqr—ﬁ%a’rw%ﬁrm%’ IT@@(&[&I‘UT%Z? R
z%;?ﬁa?;ﬁ?rgu%amgﬂ%ﬁrmﬁmﬁaguamseﬂaqﬁ% | I-J frgor & gy Ft
HATE?

Firstfq'e!ﬁ
Secondl§'\‘ﬁ'

Same in both/GIF § ¥H 8
Data insufficient/ 3P e AT g
Correct Answer :-Same in bothm A gHE %

6)
Question Stimulus :-

The average salary of the entire staff in a office is 120 per month. The average salary of
officers is 460 and that of non-officers is #110. If the number of officers is 15, then the

number of non-officers in the office is:/ {3t PTaTaa & HHUINEGT BT ATRIP AT A9 2120
2 | SAfUHTRaY &1 3T A9 2460 3R Y RGBT 7Y & ITPT 110 3 | Tfe iftramfeay &
BT 15 B, df pratey § ot SRR 78] §, 37! 9= 8-

« 500

o 488

« 510

e 450
Correct Answer :-510
7
Question Stimulus :-

Some amount out of 27000 was lent at 6% per annum and the remaining at 4% per annum.
The total simple interest from both the fraction in 5 years was 1600. The sum lent at 6% per

annum is: / 27000 ¥ ¥ B A 6% AP TS B & A 3R AW 4% 1P oo I G A IUR
ggT's‘%%l 31 fexl 31 5 9 T F& ATURT AT 21600 § | 6% TIPS AT B &3 A IUR &1 T

e %2000
e T3000
e ¥4000



» ¥5000
Correct Answer :-¥2000
8)
Question Stimulus :-

How many percent of the profit earned on cost price is equal to the 30% of the profit earned
on selling price? / 70 Y& UR T fara=t wfa=ra @y, faspa ge0 R UIw 30% 1Y & SRI6R 82

e 20%
e 30%

1

. 3339

&

. 4279,

&
Correct Answer :-427%

9)
Question Stimulus :-

If the surface area of two spheres are in the ratio 9:16, then the ratio of their volumes will

be:/ Tf &Y el & YEIT ATEa! BT TUTT 9 : 16 8, df ITP AT T YT ERIT:
.« 9:16
. 16:9
. 27:64
e 3:4
Correct Answer :-27:64
10)

Question Stimulus :-

Ill_ 27 x |Il— = x
itV *=1+1 thenxequals:AREY ¥ =1+1g AXxTWERE:
. 3V3
o 1
o 27
e 13

Correct Answer :-1



11)
Question Stimulus :-

If a train, with a speed of 54 km/hr, crossed a pole in 30 second, the length of the train (in

meters) is:/ Tf¢ TH YS! fopdl W &) 54 fHH} ufa 4 &) =1 | 30 Ahs H UR HIdl 8, @t
YS! B wars (Hiex #) gri:

- 1000
« 900
e 450
« 500
Correct Answer :-450
12)
Question Stimulus :-
Find the wrong term in the given series: /&l §€ Qvﬁﬁ'naauzslmaﬁ:
1, 3, 10, 36, 152, 760, 4632
e 3
» 36
» 4632
e 760
Correct Answer :-760
13)

Question Stimulus :-

What will come in place of Question mark (?) in the following number series?/ fafafaa
It 4ot § uyarae g (7) & RIMF TR T 3?2

198, 194, 185, 169, (?)
« 154
* 165
e« 144
e 134
Correct Answer :-144
14)

Question Stimulus :-



A, B & C start running at the same time and in the same direction on a circular path. A
completes a round in 252 seconds, B in 308 seconds and C in 198 seconds. After what time

will they all meet again for the first time?/ A, BHNCWWW&WW'@%&’HﬁWW?{
ST AR HIAE | Awwzszﬁmﬁwmé B U TaHY 308 HhUs W T
AT & TUT C TP TFh< 198 YHUS § I el & | 3 9t g: ey o a1 Ul O R

26 minutes 18 seconds/26 fFc 18 AHUs

42 minutes 36 seconds/42 fiFc 36 YHUS

45 minutes/45 fiu=e

46 minutes 12 seconds/46 fiFc 12 A&HUs

Correct Answer :-46 minutes 12 seconds/46 e 12 AHUg
15)
Question Stimulus :-

If the price of petrol is increased by 25%, by what percent the consumption of petrol must

be reduced so that expenditure remains unchanged? rafe ﬂ@ﬁ Pt DT | 25% DI q@ gl
2, 9@ Ui &1 @ud # fea ufaxra &1 w3t ot e a1fe =g smfvafda @2

20%

25%
1

33%%

50%

Correct Answer :-20%
16)
Question Stimulus :-

Pepsi and Coke, there are two companies, selling the packs of cold-drinks. For the same
selling price Pepsi gives two successive discounts of 10% and 25% on marked price, while
Coke sells it by giving two successive discounts of 15% and 20% on marked price. What is

the ratio of their marked price? /ﬂwﬂaﬁvma‘rmﬁm%a‘rﬁﬁ%ﬁaﬁﬁl Udh JHTAH
fasra qeu & fore Tadft sifed Hea W 10% 3R 25% P &) HHRT Fe dl 7, STafe diew sifpd
qfcrww"/osﬁ'\rzo"/oaﬁa‘rmwa?ﬁ% | 39 Sifhd geul &1 uTd J1d Biforg?

e 143 :144
e 19: 11
e 136:135
« 73:77

Correct Answer :-136 : 135

17)



Question Stimulus :-

If a team of four persons is to be selected from 8 males and 8 females, then in how many
ways can the selections be made to include at least one male?/ ‘Clﬁ 8 Y=Y 3 8 'FI'%?ITGﬁ s |
¥ IR AR & T gd b1 I 51 91 8, at fbaqa a8 A o &1 9= frar o godar @
foray &0 9 o1 TH =Y 812

« 3500

« 875

« 1200

e 1750
Correct Answer :-1750
18)
Question Stimulus :-

An ore contains 25% of an alloy that has 90% copper. Other than this, in the remaining 75%
of the ore, there is no copper. How many kilograms of the ore are needed to obtain 60 kg of

pure copper?/ T® 3P & 25% H TP fAyurg & Forad 90% dten 81 30 HfaRad 75% v
o diaT 81 8 | 60 fhum Y dfaT urdd w3 & ford fpam foramy srave &t smawaar gifi?

e 250

o 275

« 300

* 266.66
Correct Answer :-266.66
19)
Question Stimulus :-

In a box there are 4 black, 4 orange and 2 blue marbles. Two marbles are drawn at random.
What is the probability that at least one marble is of blue colour? Tdh o | 4 Wﬁ, 4 AR
3R 2 i Fa Bl ) Fal Bt AT TU A NSO TG | FHA FPA TS FA S A T FH
e @t Wil w82

4
5

3
5

° E

e None of thesel%'—l'l?f I ﬁi Hﬁ’[



Correct Answer :-None of theselg_-lﬁ I aﬁ% T-Iﬁ
20)
Question Stimulus :-

A person can reach a place in 50 days by walking and resting for 9 hours a day. If he
doubles his speed and also rests for double time then in how many days will he cover the

double distance?/ TF 3MTGHY 9 G Ufafe fasmm $3 e WM W Aea 50 e & ugg g&Har 3
| af¢ 98 3ru=t I Y SRIAT BR & SR fagma oft Qv 3 <t SR gt fopam &=l o @ w2

e 126
e 128
e« 125
e 129
Correct Answer :-125

Topic:- Logical Reasoning

1)
Question Stimulus :-

In a row of boys, A is fifteenth from the left and B is fourth from the right. There are three
boys between A and B. C is just left of A. What is C’s position from the right?lﬁgﬁaﬁw
G d, AT A 15a qUTB SR A NUTT IANRBF AT A3 dSH ? | C, A & faepa ardf
3R T | S F C BT B AT R g2

othjoqt

10th/10at

12th/12af

13th/1 34t

Correct Answer :-9th/9ﬁ
2)
Question Stimulus :-

If green’ is called ‘white’, ‘white’ is called yellow’, ‘yellow’ is called ‘blue’, ‘blue’ is called
‘Ppink’ and ‘pink’ is called ‘black’, then what is the colour of sky?/ ‘Clﬁ exr Ca| ‘W’W FIT&,
A B War w1 9@, Tar S <ieares 9, -iar S qaEr $81 9’ 3R [aEr @)
“HTAT T oI, df STHTRN BT [T DI AT FRM?

e green/ gl
e blue/ Fiar
. pinklﬂ?l'lﬁbf
o yellow/ e



Correct Answer :-pink/ ﬂ?l'lﬁ
3)
Question Stimulus :-

If 10th August, 2001 was Tuesday, which day did fall on 25th September, 2002?l'€lﬁ' 10
3T, 2001 P HITAAR YT, @Y 25 Ryawar 2002 &) w9 A1 fa7 R

« Thursday/ggefaarR

» Wednesday/dYdRk

« Saturday/RFAR

. SundayRﬁﬂR’
Correct Answer :-SundayR'ﬁﬂ'R'
4)
Question Stimulus :-

B is brother of D. D is sister of F. M is brother of F. How is F related to B?/B, D &1 'J-IT&;% 1D,
F®IT8T8 | M, FHT YIS § | F, B A frg yoR et 872

. Brotherl‘l-ng

o Sister/dgd

e Brother or Sisterl‘l-ﬂ'é' gl dg+

« Cousin/®for
Correct Answer :-Brother or Sister/'l-l'l_sc gl dg-
S)
Question Stimulus :-

An unfolded dice is given, from the answer figures which figure is similar when unfolded to

the question figure./TP T T URT T 74T 8, IR MPpfadi & 5 MHfd & Wiad W 98
Uy P F I e Fft?

oBg
2
[+



Correct Answer :-@

6)
Question Stimulus :-

Samir was standing facing East. He turned to his right and walked 5 m, again turned to his
right and walked 7 m. Then he turned to his left and walked 4 m. In which direction is he

facing now?/ AU, Td f=m #t MR Yg fru @er o1 | 98 3= g1 g1 3 5 Hiew 7«r, e
;ﬁ[qirmar%waﬁ?ﬂﬂaam | fiPY T3 91T YT 3N 4 Hiex =aT | 39 39®T g4 fhg fe=m
?

e North/S«lX

« South/gf&ror

« West/afia

« North-West/ ScR-Uf3#
Correct Answer :-SouthIE'TEI'UT
7
Question Stimulus :-

A man and a woman are sitting in a room. Man’s mother-in-law and woman’s mother-in-law

are mother and daughter respectively. Man is the of the woman./Udh tgﬂl Gﬁ?w
AR PN TF TR AISE | SUTET B I R ST URAT P AT MU A AT IR T T |
TFRUSTARATHT____ B |

« Father/fOar

« Mother/f

e Uncle/MTdTl

e Father-in-law/{dgR
Correct Answer :-Father-in-law/dgY
8)
Question Stimulus :-

DIRECTIONS: In the question below, there are few statements followed by few conclusions.
You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)

from the given statements./fd=T: id ﬁ'({ QU | 8 YA IR I 91g 33 s feg



T &1 3Ty f3T 7T ST B T HATHAT 8 Hd 81 3 Fd3nd aa A fH=1 udia gid 8f 1 9+
freput o1 ufeu fihe aa Fifsre f fou e Frepul O F F9 91 THHTd 3T A SFHI0 $HT 3,
e Jdgd a8 W gl |

Statements:/®Y:
All animals are dogs.mﬂ-ﬁ NIGCES Qﬁ% |
All dogs are birds. A ﬁ, ﬁl‘%ﬂT% |
Some animals are wild./$9 GHdY, ST § |
Conclusions:/fTsh:
I. All animals are birds. ¥t SR, faf$aT g |
Il. All birds are animals./ A} ﬁl‘%‘iﬂ, \_rI'F-ITR% |
e Only conclusion I follows./dad fspd | STTHRUT Hdl g
e Only conclusion |l follows./pdd fAsm II Glﬂ'\‘ITUTWT%
« Either conclusion | or Il follows. AT fswt 1 a1 I SENTUTWT%
e Both conclusions | and Il foIIow/EﬂT-ﬁﬁWEfI 3R IIWW?
Correct Answer :-Only conclusion I follows./Pdd ﬁwﬁf | 3T Bl %
9)
Question Stimulus :-

Pole H is to the east of pole R and to the North of pole D, pole D is in which direction with
respect to pole R?2/GHT H, EHTR & Jd # § 3R WUT D & Ik | §, WHT D, WHT R & AT
fPafemmd g2

. North-EastIBc_vR-q\T::

« South-West/gf&or-ufdy

« North-West/SR-uf&d

. South-Eastla'f&rUT-qﬁ
Correct Answer :-South-Eastla'fél'UT-Hﬁ
10)
Question Stimulus :-

DIRECTIONS: Study the following information carefully and answer the questions given

below:/fqer: fAE=ffad SM®R! &1 wFyd® sroaas & - feu T u=Al &1 I« i |
(i) P x Q means P is brother of Q/P x QWGRf% P, QW‘HT&F%

(ii) P — Q means P is mother of Q/P — Q &I qf g P,Q PIATE



(iii) P + Q means P is sister of Q/P + Q@A 7 P, Q@I geT 8
(iv) P + Q means P is father of Q/P +Q$f3{%f% P, Q%ﬁl?ﬂ%'

HowisWreIatedtoMintheexpressionW+T+RxM?/H'FﬂWW+T+RxMﬁ,WﬁTM
A T IEY g2

Maternal aunt/ 'Fﬁ?ﬂ

Paternal Aunt/ 31T

Grandmother/ a??r

Data inadequatelGN'CI'fGr SIcT
Correct Answer :-Paternal Aunt/ §3iT
11)

Question Stimulus :-

DIRECTIONS: Find the Mirror image of the main figure:/fGT: g1 3THfa HT gUvr ufafds gra
P

Main Figure
qeq s

)

SIS

A B C (B

S a w »

Correct Answer :-B
12)
Question Stimulus :-

From the given four positions of a single dice, find the number of dots at the face opposite

to the face having4dots.mﬁ?mqﬁﬁﬂﬁﬁﬂﬂﬁﬁﬂ¥ﬁﬁ4ﬁfdww%m
qrelt gag W IufRuf fagsii &t wem rd &% |




e 4
Correct Answer :-1
13)
Question Stimulus :-

DIRECTIONS: From the given responses, find the missing term in the series./ ﬁjcfQT: ﬁ't{TI'({
fawedt & & 9oft & g ug &) 1a HY:

Q1, P2, R6, N24, V120, _
« W600
o« X720
« F720
« F600
Correct Answer :-F720
14)
Question Stimulus :-

DIRECTIONS: Which figure from the following options can replace the question mark?/
e = ol o @ 19 W siepfa w=H fas &t ufownfud &% Il 82

Problem Figures | g sasfan

AERIE

Answer Figures | g ang R

A | & | ie ]

A B C D

S O = »

.
Correct Answer :-B
15)

Question Stimulus :-

A clock buzzes 1 time at 1 O’clock, 2 times at 2 O’clock, 3 times at 3 O’clock and so on.
What will be the total number of buzzes by the clock in a day?/ T®% g1 1 g6 1 IR geldl g, 2
aﬁzaéwaﬁ'cﬁ%, 3 g9 3 IR Toid! 8 3R 33 UeR 3 ot | ve a7 # vl o fpait aR
oIl g ?



« 150
e 156
« 100

e None of these/ 3‘-{3[ I ﬁ'&{' T-Iﬁ

Correct Answer :-156
16)
Question Stimulus :-

DIRECTIONS: In the question below, there are few statements followed by few conclusions.
You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)

from the given statements. Iﬁi‘-‘d ﬁﬁﬁqwmﬁwﬁwaﬁvmm

Mg | mmw$wﬁwmélﬁtﬂ%aﬁmﬁa&ﬁﬁﬁmmﬂaﬁ%ﬁl i
frepul ) ufew fibr Ta #ifore i fou e et & | &1 91 ThTa 39§ SER0 ST 8,
e Jdgd aa o W &l |

Statements:/[®Y:

Some shoes are white./$® Gﬁ, qhe d |
All white are blue. T4t %g, A & |

All blue are red. a4t :ﬂﬁ, E’Iﬁ% |
Conclusions:/fsHt:

I. All shoes are blue.m‘l-ﬁ\_tj?r, T-ﬂﬁ% |

II. Some shoes are blue./$9 \_rﬁ, g

Only conclusion I follows./ddd fswd | SFTRUT FHaT 8
Only conclusion Il follows./&ad fHY 1| SRV HIdT 8

Either conclusion I or Il follows./dT {1 AT 11 GIWWT%

Both conclusions | and Il follow/ gIFil s | 3R 11S¥R0T H7d &

Correct Answer :-Only conclusion Il follows./&ad frswd 1| SFIRUT FHar 8
17)
Question Stimulus :-

DIRECTIONS: In the question below, there are few statements followed by few conclusions.
You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)

from the given statements. fﬁi&{[ ﬁﬁquﬁ $2I=I3ﬁ'\fwa?'cﬂ'c{ ﬁ'ﬁlﬂfﬁﬂ
Mg mmw$ﬁﬁwm%ﬁﬁama@ﬁﬁmm¥ﬁ | goft



fremyt ot ufer fihr au Fifoe & far e Frepul O F F 91 ahETd 3T A SFEIT HdT 3,
e Jdgd a5 W &l |

Statements:/®Y:

All frogs are tortoise. /A ﬁ%ﬂi iy % |

No tortoise is a crocodile.lﬁ*ﬂg DT, HIRHS =r€r% |
Some crocodiles are elephants./[®® HIRHAWS, sft
Conclusions:/fsH:

I. Some tortoise are frogs./PO Y3, P o % |

Il. No crocodile is a frog.lﬁﬁg HIRHY, ﬁ?ﬁ?:lﬁ% |

e Only conclusion I follows./Fad forsw | ST HIdT ?

e Only conclusion |l follows./bdd faem |1 GEI,'\“ITUTWT%

« Either conclusion | or Il follows./dT fAsaY 1T 11 GERITUTWT%

« Both conclusions | and Il follow/ & fsp 1 3fi¥ 11 3FERUT HRd &
Correct Answer :-Both conclusions | and Il follow/ ﬁﬁ'ﬁﬂfl ke er:wwaﬂ?r%
18)

Question Stimulus :-

DIRECTIONS: From the given responses, find the missing term in the series./ fd=r: few e
faweul ° 3 goft & qua ug &t g1 B

A1Z, E2V, I6R, M21N, Q88J,
« F44SU
o U445F
« G342C
V441G
Correct Answer :-U445F
19)
Question Stimulus :-

In the following options, three of them are alike in a certain way and thus form a group. Which one

does not belong to that group?/ﬁﬂﬁﬁﬁﬁ?ﬁqwmmﬁmgéﬁ?ww
TYE F1d 8 | DIF-11 TP, 39 TYE I Jrafd 781 82

« ADBEC

 FIGJH



o« KNLOM

 PRTSQ
Correct Answer :-PRTSQ
20)
Question Stimulus :-

DIRECTIONS: This question is based on the following letter/number/symbol arrangement.
Study it carefully and answer the questions.fﬁ%ﬂ: g Uy = < Tlﬁ &R/ P/IT DI HTRIT
R ATUTRE § | 3 SATHYd® ue 3R Y BT I S|

8GAR#7HE%9L1@JKIDU5BT3$QM2*F4

How many such vowels are there in the above arrangement each of which is immediately
preceded by a consonant and also immediately followed by a symbol?/3UR | Tli IT H
oY fpaq TR €, e id ugd saeiH SR gid a1¢ e sman 82

e One/@dh
. Twol?f
. ThreeRﬁT-r

. Nonelﬂﬁ's‘ EEHi
Correct Answer :-One/Udh

Topic:- RC_Quantitative Aptitude
1))

Question Stimulus :-

DIRECTIONS: The Pie-chart given here shows the spending of a country on various sports
during a particular year. Study the graph carefully and answer the questions given below it./

e = fear gen urg-ard v Aty af # w1 & fafte @a @< #Y gxifar g | ame &
AMYAS AHYT B a7 A feT 7T gzl &1 IR S|

Critkez‘ﬁﬁ*‘f.

3

Haekay FiaT, 3

Bazkat

pallfaTFhT T
50"

COther/37, 31°

TennizEiAH, 45¢ el GEli T

What percent of the total spending is spent on Tennis?/ W Pd @d &1 faan ufawra

W 8T 87



1
122%
1

2229,

25%
45%

1
Correct Answer :-122%

2)
Question Stimulus :-

DIRECTIONS: The Pie-chart given here shows the spending of a country on various sports
during a particular year. Study the graph carefully and answer the questions given below it./

frew: e foar gan urs-aré e fadiy af & S & fafte @l ) @ @) qxifar @ | e &1
AP HFTT B a7 A feT 7T y=A1 &1 IR |

CrickeyTRihe,

3

Hockey FiT, 63°

Baskat

pall/aTEhE T
s5a¢

Tenniz2FH, 45¢

How much percent more is spent on Hockey than that on Golf? MNP Bt ar&&rr Eﬁ?f W faq
wfa=ra Sifire wd g

27%

35%

37.5%

75%

Correct Answer :-75%
3)

Question Stimulus :-

DIRECTIONS: The Pie-chart given here shows the spending of a country on various sports
during a particular year. Study the graph carefully and answer the questions given below it./

frw: e fear gan urs-aré ue fadiy af & S & fafte @l ) @ @) qxfar @ | e @1
AFYAP AT B a7 A feT 7T y=A1 &1 IR |



Basket
bali/STEhT e
50t

Tennis 2, 45¢

How much percent less in spent on Football than that on Cricket?/fthbe @t er&&rr WFHT\'
fora= wfa=ra &0 @d gane
2

225%

27%
1
333%
E:

37°%

1
Correct Answer :-333%

4)
Question Stimulus :-

DIRECTIONS: The Pie-chart given here shows the spending of a country on various sports
during a particular year. Study the graph carefully and answer the questions given below it./

= i foam gan wrs-a1é ue faxiv adf g1 ¥ fafte Wel ) @< @1 qxifar g | 1w @1
HTYAD Y D aYT - fIT 7T g1 &1 IW S|

CrickevTehe, )
£1* Hockay FihT, 63

Basket
bali/STEhT e
50t

Tennis 2, 45¢

If the total amount spent on sports during the year was %2 crore, the amount spent on

Cricket and Hockey together was: I‘Clﬁlﬁ' qi o '\‘I'Fl]:Uf@?ﬁ W 22 PRAS E?fE'E g1, <t fohpe
qUT §Ib! TR T HIY G gU A

e %8,00,000



» %¥80,00,000

« %1,20,00,000

* %¥1,60,00,000
Correct Answer :-¥80,00,000
S)
Question Stimulus :-

DIRECTIONS: The Pie-chart given here shows the spending of a country on various sports
during a particular year. Study the graph carefully and answer the questions given below it./

frd=r: i fear gom ug-aré v faviv o ¥ 3= ¥ fafis @i w @d &f gxifar @ | 1% &1
AYAS YT B a7 A feT 7T gzl &1 IR

CrickevTiehe,

"

Hoekay FiaT, 53

Basket

bali/STEhT e
5o

TennizEiAH, 45

If the total amount spent on sports during the year be ¥1,80,00,000, the amount spent on

Basketball exceeds that on Tennis by:/ af¢ T¥ a9 & Jwul @al WX 21,80,00,000 T §T &, <t
TRdbedld W ¢~ B 3ru&T forar siftre @ gam?

» %2,50,000
» %3,60,000
« %¥37,50,000
* ¥4,10,000
Correct Answer :-¥2,50,000

Topic:- RC_Logical Reasoning
1))

Question Stimulus :-

DIRECTIONS: Study the following information carefully and answer the questions given

below:?/[ERT:d} T MR ®I YIS Ue 3R 1 fw 78 vzl & I«R &

P, M, D, A, F, H, R and B are sitting around a circle facing at the centre. R is fourth to the
right of A who is third to the right of P. M is second to the left of H who is second to the left

of P. D is third to the right of B./P, M, D, A, F, H, R 3{k B T®% J@ & IRI 3[R &% @1 3R T&



PSS EIRAGIUIANI AW SNP ¢ A TR MW G M, HE T I gk I
WP, AMPFICAGIR MW | D, BF T A TR R W B

Who is the third to the left of H?/H & 9T I TR RIF WX S 82
e M
e A
B
e F
Correct Answer :-A
2)
Question Stimulus :-

DIRECTIONS: Study the following information carefully and answer the questions given

below:?/[ERT:d} 7T AFPRI ®I YIS Ue 3R - f3w 7T =i & I«R &

P, M, D, A, F, H, R and B are sitting around a circle facing at the centre. R is fourth to the
right of A who is third to the right of P. M is second to the left of H who is second to the left

of P. D is third to the right of B./P, M, D, A, F, H, R 3R B T® g & TRI 3R &= o1 3R &
FAWETIRAFICATIRWAREIFAP F T A TR WFEAREI M, HF IT T g RIH
W, APFICAGCIRIIFWE | D, BF T A TR I W B

Which of the following pairs represents the immediate neighbours of B2/ # | S99
wireT B & fMirean usiiual &t gxifar 82

« FM

« AP

« MP

e AF
Correct Answer :-AF
3)
Question Stimulus :-

DIRECTIONS: Study the following information carefully and answer the questions given

below:?/[ERT:d} TS IFPRI ®I YA Ue 3R - f3w 78 vzl &% I«R &

P, M, D, A, F, H, R and B are sitting around a circle facing at the centre. R is fourth to the
right of A who is third to the right of P. M is second to the left of H who is second to the left

of P. D is third to the right of B./P, M, D, A, F, H, R 3ik B T®% J@ & IRI 3[R &% @1 3R T&
FARBTIRAFIUATNIRIF R AP & ST TR MW I M, H P T F g R
WEAPHFICAGIRVIFWE | D, BF GTH TR ™AW BN

If R and B interchange their position, who will be second to the left of M?/afe R 3R B &I
IGA-9GA Ad 8, M P TT A GO I TR B gHI?



B

e H

Data inadequate/\?rl'qTI'fGI |

None of thesels'-'-lﬁ I aﬁ‘é =|'eﬁ

Correct Answer :-None of theselg_"l'ef g aﬁ% i

4)

Question Stimulus :-

DIRECTIONS: Study the following information carefully and answer the questions given

below:?/[ERT:&} T IMPRI ®I AHYd® U 3R 1 f3w 78 vzl & I«R &

P, M, D, A, F, H, R and B are sitting around a circle facing at the centre. R is fourth to the
right of A who is third to the right of P. M is second to the left of H who is second to the left

of P. D is third to the right of B./P, M, D, A, F, H, R 3ik B T® J@ & IRI 3[R &% @1 3R T&
FARBTIRAFIUATNIRIF R AP & ST TR MW I M, H P T F GO R
WEANPFICAGIRVMAWRT | D, BF T TR UMW I

Who is to the immediate right of P?/P & fA®adH gt #1982
« F
« R
« B

e Data inadequate/\?rl'qTIle el |

Correct Answer :-F
5)
Question Stimulus :-

DIRECTIONS: Study the following information carefully and answer the questions given

below:?/[ERT:d} 7T AFPRI HI AHYIS Ue 3R - f3T 78 vzl & I«R &

P, M, D, A, F, H, R and B are sitting around a circle facing at the centre. R is fourth to the
right of A who is third to the right of P. M is second to the left of H who is second to the left

of P. D is third to the right of B./P, M, D, A, F, H, R 3R B T® g & TRI 3R &= o1 3R &
FAWETIRAFICATIRMAREIFAP F T A TR FAREIM, HF TT T g RIH
R, APFICACIRIIFWRE | D, BF ST A TR I W B

Who is to the immediate right of M?/M & fA®cdH ST I 82
« H
« A
« D
e Data inadequate/GN'lel?[ el |



Correct Answer :-D



